1) 053mm= cm 10) 15 mm= cm
2) 5000m= km 11) 0.315km =

3) 96.74 km = m 12) 390 m = cm
4) 53mg-= g 13) 274 cm= m
5) 3236 m= km 14) 0.005 kg = dag
6) 178L= cL 15) 36106 cm = m
7) 09042 m = km 16) 5000 ml = L

8) 152kL-= dalL 17) 25 kg = g9

9) 5000g-= kg 18) 105¢g= mg

1) 053mm-= cm 10) 15mm-= cm
2) 5000 m= km 11) 0.315km =

3) 96.74 km = m 12) 390 m = cm
4) 5B3mg= g9 13) 274 cm= m
5) 3236 m-= km 14) 0.005 kg = dag
6) 178L-= cL 15) 36106 cm = m
7) 09042 m= km 16) 5000 ml = L

8) 152kL-= dalL 17) 25 kg = g9

9) 5000g-= kg 18) 105¢g= mg




